Calculer:

41788 45211 10055 6065
X 2 X 9 X 8 X

63419 68362 83866 6496
X 8 X 9 X 3 X

51561 53510 840914 42009
X 6 X 9 X 8 X

35375 69965 15687 8772
X 7 X 7 X 9 X

1 .. 6 .. 5
X 9 X 9 X 7 X
=.1279 .. =.849.0 =.7853.. =..6875
5 .. 0 1 9
X 9 X 7 X 9 X
=..6206 .. =.2897 .. =.6159 . =.189.
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Calculer:

41788 45211 10055
X 2 X 9 X 8
=83576 =406899 =80440
634109 68362 83866
X 8 X 9 X 3
=507352 =615258 =251598
51561 53510 840914
X 6 X 9 X 8
=309366 =481590 =672752
35375 69965 15687
X 7 X 7 X 9
=247625 =489755 =141183

2 - Compléter les opérations de multiplication:

90311 31660 25505
X 9 X 9 X 7
=812799 =284940 =178535
95785 32710 73511
X 9 X 7 X 9
=862065 =228970 =6615909
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